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Figure 7. Depth distribution of {a) the Conrad and (b} the Moho discontinuities [after Zhao of
al., 1992b). Solid lines denote depth contours, dashed lines the standard ereors of the estimate
depthis. The ooter dashed line encloses the region where the standard error is less than Lkm,

TMS.L Vs Vp
No. (m) (m) (/m3) (m/s) (m/s)
-284
1 -300 16 211 1110 2280
2 -1360 1060 212 1160 2390
3 -2410 1050 225 1620 3220
4 -3700 1290 2.36 2050 4150
5 -5880 2180 251 2760 4820
6 © 259 3170 5230
TMS.L Vs Vp
No. (m) (m) (t/m3) (m/s) (m/s)
-134
1 -149 15 2.03 730 1800
2 -180 31 2.03 890 1900
3 -231 51 2.03 890 1900
4 -266 35 2.03 960 1900
5 -300 34 2.03 1000 2100
6 -1360 1060 212 1160 2390
7 -2410 1050 225 1630 3220
8 -3700 1290 2.36 2050 4150
9 -5880 2180 251 2760 4820
10 o 259 3170 5230

6km

and the inner one less than 1-km.
L Zhao et al.(1994)

15 16km

O m=mn

20




-15 10 -5

(1) F B

e

© — © — © — © — © —

| L 1
¢ .1 T N T % B T K T K

L 4 L 4

PRSI B I DTSV B L - B I IR I R B
| I 13 I T I I I I |
g I 13 lg o 15 | g lg, 138 | 1
Nt g e ki I C I g _
B .- = '] '] 3 '] '] = '] 1 [ ] [ 1
| | | | | | | | | | | | | T I | T B |
uuuuu
1 A 1 1 1 N 1 1 = bl B
] 0#- L] 00- L] 0#- L] s 17
| 0~M-Q— | ¢~~3.F | uno.—, | hq _o_l.. ~ot—
| < b | I I I I INg® T
Ny s | I I I _ _ _ I

m ; = | m .... m. .a. m ¥ m .n-.#.
A I : I (3 I j I [E S
- (o) I (™~ T I
I 4 I 9 I 4 I A
RN bl I I I 1 1

el S
INZ' 1| 1wl | 1N # _uorm
B —0~¢.- | B —0 ..rfﬂm | L) | b | .!- —+A

- ) i~ - .
2 * I B ¥ | 3 L] 1 3 ;- 1
£ () _ _ Y I
\—V/ —

376
3r4’

21

0 5

Cross-section (km)

20 1 11
O m=mn



(1) F B

2007 v 16 21 08 M4.4
_ 138720E 13825 138730 13835 138°40F  138°4SE
F-B
[ 1| 200777716, 21:08
4.4 37° 35'N
[=N] 37.509
[<E] 138.630
[km] 13.6
[=] 187;39 37" 30'N
<] 54;41
(dl 70;115
[N m] 5.21=10"
[Hz] 1.65 37° 25'N
[km] 1.40
[km] 1.40
[cm] 8.0
[Vpa] 46 37° 20N
[N/m] 3.31=10"
[km/s] 3.5
Lo/cr ] = 37° 15'N

E HRERND

22




(1) F B

1 37°45'
& 37'3()'
F B
: - 37°15
38°15' 138°30" 138°45' 139°00°

Wi
ﬁ HRERND ’3



(1) F B

(cm/s?) (cm/s?)
150 KK1-2E NS Acc. Max = 26.25 150 KK1-2E NS MOD Acc. Max = 50.51
I 0~
-150 - -150 -
150 — KK1-2E EW Acc. Max = 35.60 150 — KK1-2E EW MOD Acc. Max = 126.81
| Y S 0~
-150 — -150 —
150 KK1-2E UD Acc. Max = 16.57 150 KK1-2F UD MOD Acc. Max = 32.99
0 I L -
-150 — T T T T 1 1) -150 I B I e e p— )
0 10 20 30 40 50 60 0 10 20 30 40 50 60
e
) ®mmN

—cn 24



(1) F B

{em/s?)
800

-800 -
800

-800 -
800

OBS NS Acc. Max = 765.83

SYNTHS NS Acc. Max = 473.86

SYNTHS N5 MODIFIED Acc. Max = 681.41

L W‘WWWWM‘“ e

0 _—WM ,'N'L.‘W“A\-‘wmw-'v
-800 T T T T T T T 1 (s)
4] 10 20 30 40
—_— JES NS
SYNTHS M3
SYMNTHS M5 MODIFIED
500 1 | 1 | 1 )

pav lemus)

s 01 02 0.5 1 2 5 [+]
Perind (s}

NS

(em/s?)
1400

-1400 -
1400

-1400 -
1400

: —*-W'WW

OBS EW Acc. Max= 1310.19

SYNTHS EW Acc. Max = 546.41

SYNTHS EW MODIFIED Acc. Max= 1135.73

-1400
0

T 1 (s)
10 20 30 40

— CIES EW

500

SYNTHS EW
SYMTHS EW MODIFIED

pav lemus)

05

“noz

s 01 02 0.5 1 2 5 [+]
Perind (s}

EW

{em/s?)
400 0BS5S UD Acc. Max = 387.20
400 SYNTHS UD Acc. Max = 219.20
o - _qmﬂmmlwm,p AP S\ e
-400 -
400 SYNTHS UD MODIFIED Acc. Max = 280.83
0 - MBS A~
-400 T T T T T T T 1(s)
0 10 20 30 40
— OBsUD
SYMTHS LD
SYMTHS U MODIFIED
500 T T T 1 T T
200 |- N

pav lemus)

05

“noz

I | I | I |
s 01 02 0.5 1 2 5 [+]
Perind (s}

ubD

D m=mn



Ss 1H
Ss 2NS
====== Ss 2EW N

Ss 1V
Ss 2UD

% 1% S
) Q () Q
K " (h=0.05 K " (h=0.05
1000 - T T T TT T T T 1717 T TT \1 1000 - T T TT T T TTT7T T \ T \1
o % d p = a 9
s ¥ 1 y { s ¥
500 500

B S,
1Y 3 P
200 N

’
r\l/(

. 100

-7 ?
W i
~\§
\~<:.
L i
3
=
\
)
\/
%
N
o
o
@

100 E (J;‘u'
Ay

i
B

T \A\H

~
=12

¥4
50 N 50
L K i
'
L _/ i
/ g

20 20

o SN

B /," / ] o 3
(cm/s) / / R cm/s) » 3
oA s s fe,
; ’ | y
2 2 /
1 - E 1 n
05T ] 05
0.2 0.2
0.1 — — — o — o 0.1 L L1l Ll L1l [ L1l
0.01  0.02 0.05 0.1 0.2 0.5 1 2 5 10 0.01 0.02 0.05 01 0.2 0.5 1 2 5 10
() ()

E HRERND



(1) F B

Ss 2NS
----=- Ss 2EW .

Ss 2UD

% \ G 3

< S < S

%y & (h=0.05 K & (h=0.05

1000 = T T T T T T \'\)L 1000 T T T T T T T H)L
r N4 o Vi r \ g 9 Y
L s o | 9

500 500

>\ %,
%
T
)

P
Joo

200 r 200
) ) U>‘ >
’\ ;ag (el a0 >
100 all A Y — 100 |
DY A p
[ W / i Q
50 |-

[}

<
2
>

50

T \A\H

2
3

N

@

[/
[/
S 3
10 |- / - 10 | .
o | f
2 2 /
1 . 1 .
0.5 L ] 0.5 B 1
0.2 0.2

. L1l L1 ] — ] [ | L1 | L1l
0.01  0.02 005 01 02 0.5 1 2 5 10 '%).01 0.02 005 01 02 0.5 1 2 5 10

o
-
o

Ss

E HRERND



138. 0 138, 2 138. 4 138. 6 138. 8 139. 0 139
i
J |
/
/
A
/ / LT —
I
/ | 0
[ ) im
38.0 1 ﬁ\/—\ /f
.
( //
. Cﬁifv | .
2 [ T 7S A R
37,6 |— ]
Rk E R
37 4 L R A 5 | o
Fi FLI
1.2 |— - ——
/*«__/—'
138. 2 138 1 138.6 135.5 139.0
0 10 20 30 km

38.0

g 50

2008

91km
15km
50<

\7'
< — L B ————— G ETE—
fi FUSREE M (5 dkn) I/ kG (20km) JHWERG (17km)

ik B 291 km

D m=mn

28



(2)

Noda etal 2002

Noda et al. 2002

| 39 N
10 - T T TTTT T T TTTT
38°N 5T
2
1
37°N r e
= N NS /\»/
05 =
4 i 7
02
S 36N /
" 0.1 | L1l | | L1l
001 0.02 005 01 02 05
()
- i - 35°N
136°E 137°E 138°E 139°E 140°E
km
0 100 200
— ; ; T km
0 10 20 30 40 50

Depth




(2)

% ¢ “ 2
% & = 2 ¢ (1=0.05
1000 [~ T T<CTT T T TT ‘hO‘.O‘Sa 1000 = T 1 T(TT T T TTTT T H)L
r @ q by r N3 S S oA
- S \9@ A s 7 1
500 500

L i S B %
200 - 200
,./‘>-/’ N J‘?é S
S S
ol S
100 |- // . 100 |-
r — - S
o & / S
2, o [%

N2

) »&/ ) v/ f
10
0F / B - @ ]
(cm/s) 790 / . (cm/s) 5 e / ]

5 2

2 2 /

1 1 .
05 |- i 05 |- N
02 02
O 1 | | Ll 1] | | L1l | | L1 Ol L L L L1 L L Ll L L L1l

001 002 005 01 02 05 1 2 5 10 001 002 005 01 02 05 1 2 5 10

E HRERND



(2)

E HRERND

2004

2008

1.5

31



1365 km?

M,=(S/4.24>1011)2>< 107

1.0><10%0 Nm

A=2.46>< 1017 (M, > 107)1/3

2.5><101° Nm/s?

Ac=8/(3m)M,/(LW?)
S, =16np*S?Ac?/A2

373 km?2

Ac,=(S/S,)Ac Madariaga(1979)
Ao =Ac,><1.5

Ac

a

24 MPa

o,=(D,/W,)/(D,/W_)c,, 6.,=Ac,

4.9 MPa

E HRERND

(2001)

(2001)

(2008)




(2)

< 138.83 138.83 138.79 138.76 138.73
< 38.13 3813 37.89 37.65 3747
km 6
km 91 27 27 20 17
km 15
km?2 1365 405 405 300 255
< 187
s 50
km/s 34
km/s 24
N m 1.0><102° 3.1>x<101° 3.1>x<101° 2.3x<101° 1.9><101°
[ ]
[ ] 2008

E HRERND

33




(2)

( ()
< 138.82 138.78 138.75 138.72
< 38.06 37.82 3761 3744
km?2 373 111 111 82 70
N m 5.7>=<101° 1.7><101° 1.7><101° 1.2><101° 1.1><101°
cm 487
MPa 24
km?2 992 294 294 218 185
N m 4.7><101° 1.4><101° 1.4><101° 1.0><101° 8.8x=<1018
cm 152
MPa 49 52 52 4.4 4.1
[ ] 2008
[ ] 15

E HRERND

34




(2)

2004
2004

2004 11 08 11
2004 10 27 10

15
40

[ 1| 2004r11/08, 11:15 | 2004/10/27, 10:40
[ ] 2004/11/8 2004/10/27
5.5 5.8
[=N] 37.4108 37.3066
[<E] 138.9871 138.9885 [t/ =k
[km] 5 1
=1 13,209 218;18 2004/11/08,11:15
=1 53;38 60;32 )
[=1 80;103 100;73 F R
[N m] 2_24><1017 6.34><1017 041’13{2?,10140?
[Hz] 0.6 0.4 “) % ,
[km] 3.7 5.6 -
[kn] 3.7 5.6
[cn] 53 66.7 / B )
[Mpal 10.36 8.69 : km N
[N/m?] 3.01><10% 3.01><10" 0 10 20 30
[km/s] 3.4 3.4 37N /h,.f--m_.ﬁ\ . |
[9/cm®] 2.6 2.6 138°E 139°E
35




(2)

22km M7.1

16km M6.8 91km MS8.1
2008
2004
2008
15
Ss

E HRERND

36




(2)

Ss 3H Ss 3V

Ss 4NS
======Ss 4EW &

Ss 4UD

% N “
» & (h=0.05 K
1000 T T T \'\)L 1000 = T ‘l/ T T
o X $ S oA E p S
& ¥ 1 >
500 n 500
L N ] L
L 'I S L
) L>
200 200

7
100 M /I{ /\/ \'@7 100

50 |- 50

Y

. A

il
10 10

ém
N
N

=N

cm/s
oy CYONN f
1 a 1
05 ] 05 [
02 0.2
0.1 | | L1l | | ] | | ] 01 L L L1 | | L1l
0.01  0.02 005 01 02 05 1 2 5 10 001  0.02 005 01 0.2 05 1

Ss

E HRERND



(2)

Ss 3H Ss 3V

Ss 4NS

======Ss 4EW 2 2
\
%y \"@\ h=0.05) %y & (h=0.05)
1000 = T T<CTT T T T T mae 1000 = T T T T T T T ma=
- 7 P - N i
. { & ] 1 4 & ¥
500 i 500
L K i L i
lA |
L ! © S
200 T 200
3 /)/?: S ’&Q /H ,&Q
oY
100 |- N o . 100 |- Y =
- /%%( ~:// > - ﬁ %
- ’ \ A » / <
/ a .
50 >€\7 () A\V ‘\} 50 >€\7 / I\\/
20 20 \/2% )§
10 = ] 10 |= .
(cm/s) s [ 3 (cm/s) s o /% N
X 7
7 (972
1 = 1 .
0.5 0.5 L N
0.2 0.2
0.1 | | L1 1] | | L1l | | I 0.1 l | L1 | | ] | | I
0.01 0.02 0.05 0.1 0.2 0.5 1 2 5 10 0.01 0.02 0.05 0.1 0.2 0.5 1 2 5 10

Ss

E HRERND



Ss

Ss
Ss
B Noda et al. 2002
M7.0
Ss
Ss
Noda et al. 2002
Ss M8.1

E HRERND

39




Ss

Gal
Ss 2280 1040
F-B 1010 630
Ss 1354 1156
F-B 402 501
Ss 600
400
Ss 589 826
314 332

E HRERND

40




2280Gal

1040Gal

2500 1500
_— 1250 Il II -
(41 (4]
&3 &3
Ss-1H 0 ot
1250 ’ H
2500 1500
0 5 10 15 2 2% 30 35 0 10 5 20 2% 30 35
() ()
1010Gal 630Gal
1500 2 800 2
= 750 Ly J . S 11
[3+1 (31
S5 S5
Ss-1V 0 s 0
750 400 e |
1500 800
0 5 10 15 20 25 30 35 10 15 20 2% 30 35
() ()
HHE
¢) ®mmmAh
— 41



Ss

Ss 2 F B

900 750Gal 900 857Gal
600 600
L S 3w
SS - 2 N S 0 n’l'.:‘"n".;' A"vnvl o.',v‘ A 0
2300 300
-600 600
2900 900
0 20 40 60 80 100 0 20 40 60 80 100
() )
1500 1354Gal 1500 1156Gal
1000 o 1000
Y S 500
- 0 WA ANA AR s = 0 o
Ss-2EW W
2500 2500
-1000 -1000
-1500 -1500
0 20 40 60 80 100 0 20 40 60 80 100
() ()
600 402Gal 600 501Gal
400 400
s w S 20
- 0 AAA = 0 AN
Ss-2UD 200 -200
400 400
600 -600
20 40 60 80 100 0 20 4 60 80 100
()

E HRERND

42




Ss-3H

(Gal)

600Gal

800

400

-400

-800

10 20

30 40

(

50 60

)

70

80

Ss-3V

(Gal)

400Gal

500

250

-250

-500

30 40

50 60

()

70

80

E HRERND

43




589Gal

600 600
400 400
S M S W
Ss-4NS 0 0
2200 -200
-400 -400
-600 -600
0 20 40 60 80 100 120 0 80 100 120
()
600 574Gal 90
400 | ||.| .\ 600
S 20 - A S 300
Ss-4EW 0 'vﬁvhwﬂw""'- 0 A A
2200 ! -300
1 ]
-400 FIH -600
-600 -900
20 40 60 80 100 120 0 80 100 120
() ()
400 314Gal 400
= 200 o = 200
o e
Ss-4UD| ° o AvAn
2200 i -200
-400 -400
20 40 60 80 100 120 80 100 120
() ()
f} HERND
e 44




....... Ss 2EW ------= Ss 2UD

—— Ss 3H ——Ss 3V
——— Ss 4EW —__Ss 4UD
h=0.05 -
4000 o T (‘ ‘) 4000 T T T T T T (h\O'C\JS)
3000 2000
2000 2000
cm/s ,«\\
( )1000 (cm/§)1000 n _/\/\/ R
___,/\/J/ \V/MM\}‘\J '\q‘ -
ﬁ:*\:;’:f\/ T AR :Vj“b:\\_»&\
0 0 —’\- | L L1 [ L L1 = E&
0.02 002 005 01 02 05 1 2 5
t) ()
HERND
ﬁn 45



— Ss 1H Ss 1V

----- Ss 2EW ------- Ss 2UD

——Ss 3H —— Ss 3V

——-Ss 4EW ——— Ss 4UD

h=0.05 0

4000 T T T T T T T (\ \) 4000 T T T T T T T T (h\095)
3000 3000
2000 2000 "/\,\

==
-
2
~
/

N
LAY
(cm/s) \ I/\\M\ S‘\ ” (cm/s) /./ . g
1000 " f WA 1000 N AS M
WA R
Cad AN N\ D S
\ \\N P g N A ~ 7

AR E==Z IR o~y
%02 | ‘005“”01 0.2 | ‘05“”1 2 | 5 %.02 | ‘005””01 0.2 | ‘05““1 2 5
() ()
a EW b UD
¢) Wm=mn

46



(1) M7.1
(2) M6.8

(a)

Noda et al. 2002

(b)

. Noda et
al. 2002 F B
M7.0
(3)F D M7.7
F B




(1)

138.4 138, 6 138. 8 1349, 0
7
f
it g
B
T 2 E TR
i
/00 AP A - A S A
/
pa !
/
.//
v
i
< //.
,/
-
L0 - -
138. 4 138. 6 138, 8 139. 0
0 10 30 km

25km
15km
50<

2008

6km

50

17km

25km

15km

48



(1)

O
Mo 7.5><1018N m
22km 25km

2004

1.5

2008

E HRERND

49



(1)

138.80

37.67

km

km

250

km

150

km?2

375

203

50

km/s

34

km/s

24

< 138.76
< 37.60
km?2 59
N m 25%<1018
cm 134
MPa 25
km? 316
N m 54>=<1018
cm 54
MPa 52

N m

7.8><1018

i

2008

15

E HRERND

50




(1)

NS( 1)
EW( 1)
NS( 2)
EW( 2)

~N
% 4
2 & h=0.05)
1000 = T T TCTT T T TTTT T T4
r ¢ § A
s ¥ ]
500
i 2
200
M
3
100 | T 7
2 AT o
50 [~
- L) -, @d 4
20
ol / |
(cm/s) . fo‘ g
2
0.5
0.2
0.1 | | L1l | | L1l | | L1l
0.01  0.02 0.05 0.1 0.2 0.5 1 2 5 10

——
— uD( 1)
_— UD( 2)

L2
G @5
€ " (h=0.05
1000 = T T T T TTTT T TT )L
r ¥ m
o b 'L@Q \9@ o
500
L @Q
200
\?Q
100 |- .
o Y
50 2
i %, %Z; ]
20
10 | / 3
5 5% V
v
IR
Y ’
0.5 B 7 y
0.2
0.1 I L1 L1 111 L1 11
0.01  0.02 0.05 0.1 0.2 0.5 2 5 10
()

E HRERND



(1)

~
% \
K & (h=0.05)
1000 - T T TT LI T =
r @ y S o
N O )
| 9
500 [
L ©
200
O
>
100 |- =
E Y

50 [~
20
10 |- -

(cm/s) 0 3

5 [~ (.

, \%

/)

! 7 E
05 |- .
0.2
0.1 | L1 1] L1l | | L1l

0.01 0.2 005 01 02 05 1 2 5 10

)

—
—_— uD( 1)
—_— UD( 2)

@
G o
& € (h=0.05
1000 - T T T TT T T TTTT T T \{
’ ¢4 Q 2
S ,&@ &
500
L ©
200
D)
$
100 |-
’ AL
w0 [
. % f i E
oE LY ]
(cm/s) Lo g
5%
2
1 // -
0.5 A
0.2
0.1 L L L1 L L L1l L L L1l
0.0L  0.02 005 01 02 0.5 2 5 10

E HRERND



(2)

138, 4 138, 6 138. 8 139. 0

~_

[ F e

138. 4 148, 6 138. 8 139, 0
0 10 20 30 km

25km
15km
50<

2008

50
6km .

17km

15km

53



(2)

O
Mo 7.5><1018N m
16km 25km

2004

1.5

2008

E HRERND

54



(2)

138.75

37.50

km

km

250

km

150

km?2

375

187

50

km/s

34

km/s

24

N m

7.8><1018

138.74
< 3743
km?2 59
N m 25%<1018
cm 134
MPa 25
km?2 316
N m 54>=<1018
cm 54
MPa 52

i

E HRERND

2008

15

55




(2)

— NS( 1) — UD( 1)
— — EW( 1) — UD( 2)
_— NS( 2)
—— EW( 2)
& D
1000 - T T (C‘? TT T T T 11T \G&\\ h:O\O\S)L 1000 - T T ro@\j TT T T T 11T \Qé\\\ hzo\O\S)L
E @ & 1 & - © & 7 A
500 # A Y. : 500 > D 9
B q,QQ B (]9%
200 200

H
o
3
T
I~
"4
N
N
i
1)
S
TTT
A
%
N

50

f e b
W LA

20
10 ] = ] v, ]
(cm/s) . o 3 (cm/s) . Qo‘ ,J g
: : 7/ /

0.2 0.2
0.1 [ [ L L1l L L1l 0.1 [ [ Ll L1l L L1l
0.01  0.02 0.05 0.1 0.2 0.5 1 2 5 10 0.01  0.02 0.05 0.1 0.2 0.5 1 2 5 10
() ()

E HRERND



(2)

 — NS( 1) —_— UD( 1)
_—— EW( 1) —_— uD( 2)
— NS( 2)
_—— EW( 2)
Eal >
1000 = T T f%\j TT T T TTTT \9&\\ h=0‘.0‘5)L 1000 = T T K%\J TT T T TTTT @Q\\ hZOfO\S)L
. \4 S 1 A4 - 4 S 1 A
500 :} 4% b 2 ] 500 B L% P >
B ) B '195
200 200

E F 4 ]
cm/s, 3 cm/s [ K|
(cm/s) (cm/s) . Qo‘ y
, %
- 1 / -
05 | . 05 | .
0.2 0.2
0.1 | | L1l | | L1l | | [ 0.1 | | L1l | | L1l | | L1l
0.01 0.02 0.05 0.1 0.2 0.5 1 2 5 10 0.01 0.02 0.05 0.1 0.2 0.5 1 2 5 10

E HRERND



1000 -

500

200

100 |-

50

20

10 |-

%0/’

(cm/s)

0.2

0.1 L
0.01  0.02

2NS
2EW
3H

ANS
4EW

NS(
EW(
NS(
EW(

e

0.5 L

I L1l
0.05 0.1 0.2

0.5

Ss
Ss

— uD( 1)
— UD( 2)
2)
2) — uD( 2)
%, <\\\é\
1000 2 = {ros)
- 4 AR
500 N
‘],QQ
200 FAY
AW S Sl
100 F =
: ﬁ 9 &5 'V'v/") ’@
20 k4 ; .7
N it
10 | A (74
s o ) NN
Pt/ /
i
2 '/’
Wi
1 // 3
0.5 i .
L 7 p :
0.2 }
01 [ L IN ] L N
0.01  0.02 0.05 0.1 0.2 0.5 1 2 5 10

()

Ss

E HRERND



1000 =

500

200

100 |-

20

10 |-

(cm/s)

0.2

0.1
0.01 0.02

2NS
2EW
3H

ANS
4EW

“y
T

50 |-

AR\

0.5

L Lol
0.05 0.1

1)

1000 [~

500

200

100 |-

20 1 \
10 |- .
cm/s L 3
(cm/s) . . 4y
- ¢ 4
7 4
g
0
1 //
0.5 —<i
0.2
0.1 Lol IN 1
0.01  0.02 0.05 0.1 5

Ss
Ss

50 [

Ss

E HRERND

59



(3) F D

= 2008

137. 8 138, 0 138, 2 138, 4 138, 6
/ 35
F-D) |Ufﬁ,/ | I. 6km ®
|/
A £
<SS £
37.4 37.4 Q
16 FH i g
17km 7f\{J \
F-D
37.2 | 37. 2 < >« >
itk
i 25km 30km
d »
o »
55km
/.--./'
" - ~y -
37. 0 - 37.0
! 137. 8 138. 0 135, 2 138. 1 138. 6 !
0 10 20 30 km

55km
20km
35<

E HRERND



3) F D

1.5

2008

?; MWW

61



3) F D

E HRERND

F-D + F-D
e 137.81 138.04 137.81
< 37.17 37.30 3717
km 6
km 55 30 25
km ’ 20
km?2 1100 600 500
= 55
< 35
km/s 34
km/s 24
N m 6.7><1019 3.8%<1019 2.9%101°
[ 1]
[ ] 2008




3) F D

E HRERND

F-D + F-D
< 138.11 137.87
= 37.34 37.21
km2 353 193 161
N m 4.3>1019 2.5x1019 1.9><101°
cm 392 408 373
MPa 21
km2 747 407 339
N m 2.4>1019 1.4>1019 1.0><1019
cm 103 108 o8
MPa 3.7 3.8 35
|:| 2008
[ 1] 15

63



E HRERND

1000

500

200

100

50 ¢

20

10

(cm/s) 0

.
LN ]

0.05 0.1

0.2

(

0.5

)

1

------ Ss 2UD

—e=— Ss 3V

—===— Ss 4UD

—_— F D ubD

“, 5
2 & (h=0.05
1000 - T T T TT T T L T TT g
r s g b
500 7 91
L S
A
200 % ’,\‘
V. (R
100 | - ,/,‘J(';?{( z
r ) I
<
o % 1 ,E% "/‘(
B i J:"f L./ W i
= n e \ \ v\’,’ i
2 ! ) r/
2 % s
I f J v f
10 - ~ =
N7y s GEE
cm/s 3
( ) 5 2o, Ip
L P74 i
&
2 <
>4
’
’
1 / .
0.5 u / .
v ( i
0.2
\.
0.1 Ll [ LNl I L1 IN
0.01  0.02 0.05 0.1 0.2 0.5 1 2 5 10

—~ ()

64



1000 - ;

500

200

=
S

(cm/s)

0.5

0.2

0.1 L L1l Lo IN ] LN
0.01  0.02 0.05 0.1 0.2 0.5 1 5 10

(

)

2UD
3V
4UD

—====- Ss
—-— Ss
—--— Ss
UD

~
% >
% & (h=0.05)
1000 - T T T TT T T TTT1T T T4
r N 3 9 4
S | 1
Y
s00 [X

D)
/f&
200 \.

100 = = ~ .
L .

50 ﬁ? :; /" I l,‘ A
B /’ YN N b

i WA oks
" L e o | A

(cm/s)

o
S

N
Y
AR

N
\

N\

0.5
v ( |
0.2
\
0.1 Ll L1l LNl I LI
0.01  0.02 0.05 0.1 0.2 0.5 1 2 5 10

()

E HRERND



Ss

M7.0

M8.1

Ss

Ss

M6.8

M7.1

M7.7

66

) mEmmn



